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1. (a) Write True or False : 1x4=4

(i) Increased use of debt increases the
financial risk of equity share-
holders.

(i) Corporation finance is a part of
public finance.
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(2)

(i) Corr}posite cost refers to the cost of
equity and preference share capital.

(c)

(iv) '(I:‘he‘ fixed proportion of working i
fap1ta1 should be generally financed
rom the fixed capital sources.

(e)

- x =

() Payment of divi
f divid ;
as well as vidend involves legal

considerations. | it
i, i i
(1)) ;zlla{lltal bl'Jdgetmg is the process of
Ng investment decisions in
€xpenditure.

il
(@) Fixed cost bearing securities shoﬁld

b ; . ;

0;: ;zmme_d W.lth equity when the rate
: INgis ____ than

Interest of the company 4 :

(b)

(iv) Working capital is also kn |
A Own as ‘

following :

(b) Capi 2y
aPital gearing
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(3)

Estimate of working capital requirement
Optimal payout ratio

Net present value as a technique of
capital budgeting

Optimal capital structure

«profit maximization is not the adequate
criterion to judge the efficiency of a
firm.” Explain the statement. What

should be the right criterion and why?
6+8=14

Or

Critically analyze the functions of a

financial manager in a large-scale

industrial establishment. What are the

responsibilities of a financial manager

in a modern business organization?
8+6=14

What are the advantages of adequate
working capital? What shall be the
repercussions if a firm has (i) redundant

working capital and (i) inadequate
working capital? 6+4+4=14
( Turn Over )



(4) (5)

Or (v) Average time lag in payment of
overheads is one month
(b) The following information has been

i) 30 percents of sales are on cash
extracted from the Cost Sheet of Dot (

Com Co. Ltd basis
| " (uvii) The company expected to keep a
3 i cash balance of ¥1,00,000
R (Per unit)

a . .
D'w N g 2 (viii) Time lag in payment of wages 1S
Olrec;t labour 0 . o

verhead (including | .

fsbrsciationotigiio) 40 ‘ ' (ix) Finished goods lie in warehouse for
y Total cost 103 ‘ half a month
rofit
£ | Prepare the working capital needed to

Selling priCe 12—0

—

finance a level of activity of 45000 units

The followin : of output. Production is carried on
g furth S :

available : Ter mformation s evenly throughout the year, and wages

' and overhead accrue similarly. 14
() Raw materials are S,
average of one month on an

2 . : Il
(W) The materials are in - 5. (@ (I Defjme cap1Fa.1 structureg What is ¢
Progress on an | optimal capital structure: 3+5

50% for laboy t0 Materials and ‘ (i) A Company Ltd. has a share capital
I and Overheaq ; of 1,00,000 divided into shares of

(i) Credit al s) ' ; ; .
oOwed by ¢ ) 10 each. It has major expansion
month Uppliers is one : & ; ]
programme requiring an invest
() Time | ment of another ¥50,000. The

€cej ! . . g the
: Pts of PRoceads | management is considering
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(b)

8P/279

(6)

following alte .
: rnatives Ho g
e for raising

(1) Issue of 50
each 00 shares of 10
(2) Issue of 500
0, 12%
shares of 10 eacb‘: b srenice

(3) ISSue of 1 0%

¥ 50,000 debentures of

Th
€ compa.nyss present e

before interest
©30,000 p.a,

arning
and tax (EBIT) is

Or

What is m

i :(innt by cost of Capita]p

capital? \Fﬂfha’tpc?nmtS ty s o o
i cost of

€arnings? How ost of g
issues det WIS the cogt £ fetained
ermlned? 0 New eqult_y
3+3+4+4=14
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6. (a)
(b)

|
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(7)

(i) What is dividend? Discuss the
various forms of dividend.

(i) What do you understand by stable
dividend policy? Why should it be

followed?

Or

In Walter’s approach, the dividend
policy of a firm depends on availability
of investment opportunity and the
relationship between the firm’s internal
rate of return and its cost of capital.
Discuss. What are the shortcomings of

this view?

2+5=7

DE5=1

14
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